BAU 30

SE Installatérshandbok - Vaggstativ
F2040-12 / F2050-6/10

GB Installer manual - Wall mounting
F2040-12 / F2050-6/10

DE Installateurhandbuch - Wandstativ
F2040-12 / F2050-6/10

Fl Asentajan kasikirja - Seinateline
F2040-12 / F2050-6/10

IHB 2344-2
531406

< NIBE







Svenska

Allmant

Detta tillbehdr anvands for vaggmontage av NIBE F2040-
12 / F2050-6/10.

For mer information angaende uppstalining och réranslut-
ningar, se beskrivningiinstallatérshandboken fér F2040-12
/ F2050-6/10.

 Ljud fran kompressor eller flakt kan dverforas till konsolen.

 Placera ryggsidan mot yttervagg i ljudokansligt rum for
att eliminera oldgenheter. Om det inte &r méjligt ska vagg
mot sovrum eller annat ljudkansligt rum undvikas.

» Oavsett placering ska vagg mot ljudkénsligt rum ljudisole-
ras.

ﬁ’ TANK PAI

Fér montering, se slutet av denna handbok.

OVRIGT
For montering av denna produkt behdvs 2 st 90° vinkelkopp-
lingar (G1"). Ena sidan med utvandig génga, den andra med
invandig.
Byt ut rorkoppling XL1och XL2 till dessa 90° vinkelkopplingar
for att fa plats med luft/vattenvarmepumpen intill vaggen.

XL1- Anslutning, vdrmebarare ut ur luft/vattenvarmepum-
pen, G1" (828 mm) och

XL2 - Anslutning, varmebarare in till luft/vattenvarmepum-
pen, G1" (628 mm)

BAU 30 | SE

INNEHALL

\

1st vaggfaste

2 st vaggstag

]

12 st bult M10

¢

4 st vibrationsdampare

2 st bottenstag

12 st bricka © 10.5 mm

M12/M8
@)
\mf,
4 st bricka © 9 mm 4 st mutter M8
2 st distansskruvar
TEKNISKA DATA
BAU 30
Bredd mm 1245
Hoéjd mm 450
Djup mm 585
Vikt kg 7.6
Art nr 067 832




English

General

This accessory is used for wall mounting NIBE F2040-12 /
F2050-6/10.

For more information regarding set-up and pipe connections,
see the description in the Installer Manual for F2040-12 /
F2050-6/10.

* Noise from the compressor or fan can be transferred to
the bracket.

« Install with its back to an outside wall, ideally in a room
where noise does not matter, in order to eliminate noise
problems. If this is not possible, avoid placing it against a
wall behind a bedroom or other room where noise may be
a problem.

« Wherever the unit is located, walls to sound sensitive
rooms should be fitted with sound insulation.

? NOTE!

For assembly, see the end of this manual.

MISCELLANEOUS

To install this product, 2 x 90° angle connectors (G1") are
required. One side with an external thread, the other with
an internal thread.

Replace pipe connection XL1and XL2 with these 90° angle
connectors to create space for the air/water heat pump
next to the wall.

XL1 - Connection, heating medium out from the air/water
heat pump, G1" (628 mm) and

XL2 - Connection, heating medium into the air/water heat
pump, G1" (628 mm)

CONTENTS

\

1 x wall bracket

2 x wall stays

i

12 x bolts M10

v

4 x vibration dampers

2 x bottom stays

12 x washers 8 10.5 mm

M12/M8
@)
&) \m/,
4 x washers 8 9 mm 4 x nuts M8
2 X spacer screws

TECHNICAL SPECIFICATIONS
BAU 30
Width mm 1,245
Height mm 450
Depth mm 585
Weight kg 7.6
Part No. 067 832

BAU 30 | EN



Deutsch

Allgemeines INHALT

Dieses Zubehor ist erforderlich fir die Wandmontage von

A
NIBE F2040-12 / F2050-6/10. /
Weitere Informationen zur Aufstellung und zu Rohranschlis- .

sen entnehmen Sie der Beschreibung im Installateur- 1 Wandbefestigungen

2 Wandstreb
handbuch F2040-12 / F2050-6/10. andstreben
« Gerausche von Verdichter oder Ventilator kbnnen auf die
Konsole Ubertragen werden.
+ Stellen Sie die Einheit mit der Rickseite gegen die AuBen-
wand eines gerauschunempfindlichen Raums auf, um 2 Bodenstreben 12 Bolzen M10
Gerauschbelastigungen auszuschlieBen. Es sollte in jedem
Fall vermieden werden, das Gerat an Wanden aufzustellen,
die an Schlafzimmer oder andere Rdume angrenzen, in @
denen Geradusche stérend sein kdnnen. %
) Ung(::ac(::?:e:]desRéufstellu:gI?orii.s s:‘:lltendWande gerausch- 12 Unterlegscheiben & 4 Schwingungsdampfer
empfindlicher Raume schallisoliert werden. 10.5 mm M12/M8
g HINWEIS!
@)
Informationen zur Montage finden Sie am Ende \-'
dieses Handbuchs.
4 Unterlegscheiben 8 9 mm 4 Muttern M8
SONSTIGES
Zur Montage dieses Produktes sind 2 90 Winkelverbindungen
(G1M erforderlich. Eine Seite muss ein AuBengewinde haben,
die andere Seite ein Innengewinde.
Ersetzen Sie Rohranschluss XL1und XL2 durch diese 90°- 2 Abstandsschrauben
Winkelverbindungen, damit an der Wand Platz fur die
Luft/Wasser-Warmepumpe ist. TECHNISCHE DATEN
XL1 - Anschluss, Austritt des Heizungsmediums aus der BAU 30
Luft/Wasser-Warmepumpe, G1" (628 mm) und Breite mm 1245
XL2 - Anschluss, Eintritt des Heizungsmediums in die Hohe mm 450
Luft/Wasser-wWarmepumpe, G1" (828 mm) Tiefe mm 585
Gewicht kg 7.6
Art.nr. 067 832

BAU 30 | DE 5



Suomeksi

Yleista
Tata lisavarustetta kaytetdan NIBE F2040-12 / F2050-6/10
seinaasennukseen.

Lisatietoa asennuksesta ja putkiliitannoista, katso kuvaus
yhteensopivan tuotteen asentajan kasikirjassa F2040-12 /
F2050-6/10.

» Kompressorin tai puhaltimen kayntidani voi siirtya kannak-
keeseen.

» Aseta selkapuoli ulkoseinaa vasten melulle herkissa huo-
neissa meluhaittojen poistamiseksi. Ellei tama ole mahdol-
lista, tulee valttaa makuuhuoneiden ja muiden melulle
herkkien huoneiden vastaisia seinia.

« Sijainnista rippumatta on danille herkan tilan seina aanie-
ristettava.

g MUISTAI

Katso asennusohjeet taman kasikirjan lopusta.

MUUT
Tama tuotteen asennukseen tarvitaan 2 kpl 90° kulmaliittimia
(G1"). Toisella puolella ulkokierre ja toisella puolella sisakierre.

Korvaa liittimet XL1 ja XL2 90° kulmaliittimilla, jotta voit
asentaa ilma/vesilampopumpun seinan viereen.

XL1 - Liitanta, lammitysvesi ulos ilma/vesilampépumpusta,
G1" (828 mm) ja

XL2 - Liitanta, I1ammitysvesi sisdan ilma/vesilampopump-
puun, G1” (828 mm)

SISALTO

\

1kpl seindkiinnike

2 kpl pohjatuki

12 kpl aluslevy € 10.5 mm

4 kpl aluslevy & 9 mm

2 kpl valikeruuvi

TEKNISET TIEDOT

2 kpl seinatuki

i

12 kpl pultti M10

¢

4 kpl varinanvaimennin
M12/M8

4 kpl mutteri M8

BAU 30

Leveys mm 1245
Korkeus mm 450
Syvyys mm 585
Paino kg 7.6
Tuotenumero 067 832

BAU 30 | FI



BAU 30 | CZ

= —
[S== =)
/::

>710 mm

0 ¥ -]




X

F2050 6 924 mm
F2050 10 964 mm
F204012 1076 mm

BAU 30 |CZ



BAU 30 | CZ



BAU 30 |CZ

10



10.

—

"

BAU 30 | CZ



12

11.

=150 mm

o

4x 4x

o
W

BAU 30 |CZ









Kontaktinformation

AUSTRIA

KNV Energietechnik GmbH
Gahberggasse 11, 4861 Schorfling
Tel: +43 (0)7662 8963-0
mail@knv.at

knv.at

FINLAND

NIBE Energy Systems Oy
Juurakkotie 3, 01510 Vantaa
Tel: +358 (0)9 274 6970
info@nibe.fi

nibe.fi

GREAT BRITAIN

NIBE Energy Systems Ltd

3C Broom Business Park,

Bridge Way, S419QG Chesterfield
Tel: +44 (0)330 3112201
info@nibe.co.uk

nibe.co.uk

POLAND

NIBE-BIAWAR Sp. z o.0.

Al. Jana Pawla Il 57, 15-703 Bialystok
Tel: +48 (0)85 66 28 490
biawar.com.pl

CZECH REPUBLIC

Druzstevni zavody Drazice - strojirna
S.r.o.

Drazice 69, 29471 Benatky n. Jiz.

Tel: +420 326 373 801

nibe@nibe.cz

nibe.cz

FRANCE

NIBE Energy Systems France SAS
Zone industrielle RD 28

Rue du Pou du Ciel, 01600 Reyrieux
Tél: 04 74 00 92 92

info@nibe.fr

nibe.fr

NETHERLANDS

NIBE Energietechniek B.V.
Energieweg 31, 4906 CG Oosterhout
Tel: +31(0)168 47 77 22
info@nibenl.nl

nibenl.nl

SWEDEN

NIBE Energy Systems

Box 14

Hannabadsvéagen 5, 285 21 Markaryd
Tel: +46 (0)433-27 30 00
info@nibe.se

nibe.se

DENMARK

Velund Varmeteknik A/S
Industrivej Nord 7B, 7400 Herning
Tel: +45 9717 20 33
info@volundvt.dk

volundvt.dk

GERMANY

NIBE Systemtechnik GmbH
Am Reiherpfahl 3, 29223 Celle
Tel: +49 (0)514175 46 -0
info@nibe.de

nibe.de

NORWAY

ABK-Qviller AS
Brobekkveien 80, 0582 Oslo
Tel: (+47) 2317 05 20
post@abkqviller.no

nibe.no

SWITZERLAND

NIBE Warmetechnik c/o ait Schweiz AG

Industriepark, CH-6246 Altishofen
Tel. +41(0)58 252 2100
info@nibe.ch

nibe.ch


www.volundvt.dk
www.nibe.cz
www.knv.at
www.nibe.de
www.nibe.fr
www.nibe.fi
www.nibe.no
www.nibenl.nl
www.nibe.co.uk
www.nibe.ch
https://www.nibe.se
www.biawar.com.pl

NIBE Energy Systems
Hannabadsvégen 5
Box 14

SE-285 21 Markaryd
info@nibe.se

nibe.eu

Detta ar en publikation fran NIBE Energy Systems. Alla produktillustrationer, fakta och data
bygger péa aktuell information vid tidpunkten fér publikationens godkannande.

NIBE Energy Systems reserverar sig for eventuella fakta- eller tryckfel.

©2023 NIBE ENERGY SYSTEMS

531406

IHB SV 2344-2 531406


https://www.nibe.eu

	Cover Page
	Svenska
	Allmänt
	Övrigt
	Innehåll
	Tekniska data


	English
	General
	Miscellaneous
	Contents
	Technical specifications


	Deutsch
	Allgemeines
	Sonstiges
	Inhalt
	Technische Daten


	Suomeksi
	Yleistä
	Muut
	Sisältö
	Tekniset tiedot


	
	Contact information

